o’l

.15.,1=u.l-i;lzr."+:'.”':-ligl.;m(1
z L 3\é 19
195 +I§°’;(€)T’5

1% 49

— 5 ¥ 5 = gd?’(if—g)
1% _17
. 5 x¢ 8.5 xBx2

-— "q]{}g){g\

15 33 -tp,ma_j\\j»_b 4=

12 S dadd Jiby 2% % 2sadl .p(z

4 32 aﬁ
23:-_-‘ 'f'b—: 2 | o?,)
2 30 o
= éb_jQ - 3 (9. 1)
= 27 (4-1)
P2
="2*‘2ﬂxg=ﬁ
._4”,\3“1
Jixf&
’(Q,A% Wj_ﬂ‘}‘ﬁ’—-’/‘?_ -

wyww. najahni.tn



B{/ 12 e dadd Jais 8'3 5 5 — 4" 20l Gl c (4
/ = aa e 13
R L
RE 0147?
- (él) ' ) JES Q)

(\
wu
~
b
e
S
O
[
.
S’

. 2 x 5
s éﬂ.x CQJ‘!- » é)‘( 43
o 23“)&13 )&43‘
A s aﬁm‘;lj,«.ﬁ_; 4=
'15"6;‘,”&5!51“‘31:_313 v 311_‘”‘}&(2

1¢ ' A |3
P Yl €1 P
S (N ¥ e |
- \f( % B _3)
8 45 12
e - f g ¥ 3 )C cz) ;
Low ]! _&__J 4= < , 2 \ﬂb{,oﬂ};_l‘}b _j
R P o
MJ“};\J T g) o] és WJ‘\};}_:} e ::l.-.l:l'o:l

AS s .

wyww. najahni.tn



15 Jo 2 b Gy ooy o %5 eV £ Al

A= 15, 20,45, 697
9o

= ab

_—

(W& -6

A el e 5, Lo ) e zﬁﬂ”ﬂ-"‘ﬁ' 1%, £ B (2
[ e

B= ob
ol
q;%b‘“w UL7y)> >
o=} TB4= \9\5 Ta.,0 8 21 L1 7
g WS R p S 7
N ' C&:L{
% - BD 3 "_'(1‘0
P - g2 B =L
Po- 8u [ B =g
L 138 B -q46
SRS & SRR

......

|||||||||||
L]

wyww. najahni.tn



(-]

Bé//‘}:‘ﬂlﬁb-‘# |-5J~:-s-SJMJ,i\;i,fi,iﬂyzs,ﬁum‘sw,éc (3

213 LB i
e L s |
& ( LD O ;\ L
7- >, A Y S
o &,35,7 4

]

2<€ —-——uj«?".)

— 13°
'——‘D/)’o‘_‘)
3 O% 1' \ r
5 .
¥ERE L LT

LY
|||||||||||
g

-

wyww. najahni.tn



F{/ .5,0;&5‘@}1@&-rg)‘h_,iaaﬁ,g’;;ll;-ﬁt_u%*ﬁ‘;ﬁl
/ N el S F Al 2 ey (1
3 o gl 4L BLGT6 e dad F sl s s (2

et (S22,

O <6 5007

. \ > ——0(50)39
A ) 6/""0 ~ . 50‘5.‘5[

s O ——IJ/S;OCD
(=S ‘BBG%
,—5(3550
L v55

A= {nz.o}c,..éi
oA % gaond) Taa Uik tb)lm¢~,$.1|;|.u\)|c,ﬁ_,a,¢l(|
Ac_,odld,-.-fli)‘ﬁ‘_,-ﬁ,i.limﬁlalxw'cfju“ (2

@ <_c§ " 20
1 >
¥ j \10‘3 % 3;9_? 5,
! 58 s A
F > & ':3}
«} P

wyww. najahni.tn



(-]

/)

A= {0,279} ©susd) u
A gz il 5 2 o 1S 2LV ey e 221 (1

Ay Tz 1 3 o SR ALY g o 221 (2

wyww. najahni.tn



I:’é/ X=24ab u g

/ A5 Yo daih by XSule byasadl( @
12 515 Jo daddl Jdy OS] X pasiad (s

12 et 2y 270 47 %2 436 2 J 2 O

}L’—S\L(ab

5
<o )! g*—OGJ'T goaerol e 3 g
3 4s
S ©
X=415| (= 0oo
X = 2yys
{:ng\gL )(": QQ%O
6

X =
\ o B 'ztjﬂ'-?

%) J«?J &= A5 §5 MJ( }i_rjb ( A
W{)—ﬂ-’q d=. L2 _),(SWJ\ A% WY
FEIY o, N

C:ZL’\ 6{} /QL}OO == -'“::\ -“:.l-l.hl'

wyww. najahni.tn



12 o Al e 2" +7%2% 436 2 J 2 O

16
= 4 AS ?'\5&"‘"2 AT %k’
3 N2 <3 » ﬁ\lc_i__gé

= S FY SIS N (R D &
~— s

_ /\a)( 2, aﬂr %)

'''''''

wyww. najahni.tn



